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enVision Math 3.1 - The Distributive Property Practice

j Separate the rows in the large array into two smadller arrays. Write
the new facts.
L O0O000O 2 90000000
00000 000000
OO0000O 000000

Yx7=( X ) + ( X )

3x5=(_x__ )+(__x_)

Use the Distributive Property to find each missing factor. Use
counters and arrays to help.

J — -  m—

3 4Yx8=(3x__ )+ (I1x8) 4 6x5=(__ x5 +(2x5)
5 (L x9)=(0x9)+(2x__ ) 6. (I0x _ )=(5x7)+(__ x7)
.J 7.(6x_)=(x6)+(_x6) 8 (8x___)=(__x2)+(6x2)

FI'"L [ (| o 1 1 - 1

T - I —J d L -

[




0 = -0 = J J -

] enVision Math 3.1 - The Distributive Property Practice
Answer Key

Separate the rows in the large array into two smadller arrays. Write
j the new facts.

L O0O000O 2
00000
00000

3x5=(_x__ )+(__x_)

Sample answer: (2 x 5) + (I X 5) Hx7=(__x_ )+(__x

!

Sample answer: (2 x 7) + (2 x 7)

Use the Distributive Property to find each missing factor. Use
counters and arrays to help.

Jy — -  m—

3 4Yx8=(3x_8 )+ (I1x8) 4 6x5=(4 x5 +(2x5)

5 (3 x9)=(x9)+(2x_9) 6. (I0x 7 )=(5x7)+( 5 x7)

7. (5x 6 )=(4x6)+( | x686) 8 (8Bx 2 )=(2 x2)+(6x2)
FF‘L [ [ 1 1 - [

[

o



VVVVVVVVVVVVVVVVVVVVVV

Name # Date

enVision Math 3.2 - Apply Properties: 3 and 4 as Factors Practice

Multiply. You may use counters or pictures to help.

l. Find 3% 2 2. Find4 x93
“ 2X2= OOOOO 2)(5:
0 — OO0000O —
00 1x2-_ Q0000 ,, . _
Gaoe 00000 —
o 0 +10 =
So,3x2=___. So,4x 5=
H 3xY= 0. Yx 8= 6. X3 =
7. 4x 0= 8. Yx 9= 9 3x8=
10 3 I [0} 12 3
x 9 x Y x |




VVVVVVVVVVVVVVVVVVVVVV

enVision Math 3.2 - Apply Properties: 3 and 4 as Factors Practice

Answer Key

Multiply. You may use counters or pictures to help.

l. Find 3% 2
0
2X2=
(I )
00 Ix2-
Y+ 2=
So,3x2=_6
H 3xY=_12
7.4x0=_0
0. 3
x 9
27

.

_2
6

2. Find4 x5
00000 -
00000/ 2*°=—
88383} 2+s5- o
O+10= 20
So,UHx 5= 20 .
5 Y4Yx8= 32 6. 5x3= 15
8. Yx9=_36 9 3x8= 24
[ [0) 12. 3
x Y X |
(0] 3
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enVision Math 3.3 - Apply Properties: 6 and 7 as Factors Practice

Find the product. You may draw pictures to help.

I. Y 2 7 3 6
X 6 X 2 x |
4. 9 o) 6 6 7
x 7 X 8 x Y
7 7 8. [0} q |
x 9 X 6 x 7
0. 3 [1. q 12 6
X 6 X 6 x 7




enVision Math 3.3 - Apply Properties: 6 and 7 as Factors Practice

Answer Key

Find the product. You may draw pictures to help.

A Y 2 7 3. 6
X 6 X 2 x|

24 14 6

Y 9 ) 6 6 7
x 7 X 8 x Y

35 48 28

7 7 8. 10 q |
x 9 X 6 x 7

63 60 7

0. 3 1. q 12 6
X 6 X 6 x 7

18 o4 42

v a s - .
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enVision Math 3.4 - Apply Properties: 8 as a Factor Practice

Find the product. You may draw pictures to help.

| 8xY= 2. 8x2= 3. 7%x8=___
H 8X6= 5 8x0= 6. 9x8=__
7. 2 8. 8 q 8

x 8 x 3 x|
(0] S [, 6 12 Y

X 8 X 8 X 8
3. I 4 [0} 5. 8

x 8 x 8 x 8




enVision Math 3.4 - Apply Properties: 8 as a Factor Practice

Answer Key

Find the product. You may draw pictures to help.

. 8xY=_32 2.8x2=_116 3. 7x8=_2356
H 8x 6= 48 5 8x0= 0 6. 9x8= 72
7 2 8 8 q 8
x 8 X 3 x |
16 24 8
10 5 1 6 12 |
x 8 X 8 x 8
40 48 32
13. I I (0] 15 8
x 8 x 8 x 8
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enVision Math 3.5 - Practice Multiplication Facts '
b
Use known facts and strategies to find the product. ‘
b
. 2% 6= 2. 4Yx 9= 3. 9x9= ‘
)
)
Y, =7x3 5, =0xVY 6. =1x6 {
(
)
7. 8 8. Y q q ‘
X 8 X 2 x | b
§
)
)
10 10 I 6 12 q \
x 3 x 7 x 9 )
{
)
{
)
13. What is 9 x 2? 4. What is | X O? '
)
{
)
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enVision Math 3.5 - Practice Multiplication Facts "
Answer Key '
Use known facts and strategies to find the product. b
b
. 2x6=__12 2. Yx9=_36 3.9%x5=_25 ‘
)
42 =7x3 5. 0 _=0xHY 66 =Ix6 “
(
)
78 8 Y i q {
x 8 X 2 x| b
e 8 q ‘
)
(0] [0] I 6 12. q ’
x 3 x 7 x 9 \
30 42 8l b
{
)
{
I3. Whatis9x2? 18 H. WhatisI xX0? O )
)
{
)
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enVision Math 3.6 - The Associative Property: -
Multiply with 3 Factors Practice ;
Use the Associative Property of Multiplication to find the missing
number. You may use objects or draw a picture to help. y
(
L 5x(3%x2)=(5x3)x 2. 6x(Mx5)=(6xH4)x 3
¢
¢
«
3. 7x(2x%x2)=(7x2)x H Yx (@ x6)=(Hx )X 6
5.2x(5x6)=(2x5)x 6. 3Ix(3x4)=(3x ) x Y

Use the Associative Property of Multiplication to find the product.
You may use objects or draw a picture to help.

7. 4%xYx2= 8. 9Xx3x3= 9 Yx2x3=
0. 8x6x%x2= I 9x3x2= 2. 2X6X6=
e
[
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enVision Math 3.6 - The Associative Property: d
Multiply with 3 Factors Practice d
Answer Key

A=A W B = A W S

Use the Associative Property of Multiplication to find the missing |
number. You may use objects or draw a picture to help.
1 5x(@Bx2)=(x3)x_2 2 6xMHx5)=(6x4)x__5 q
i
—]
¢
¢
3 7x(2x2)=(7%x2)x_2 HYx@x6)=Hx_3 )Ix6 ‘
5. 2x(5%x6)=(2x5)x_6 6. 3x@Bx4=C@Bx%x_3 )xH

Use the Associative Property of Multiplication to find the product.
You may use objects or draw a picture to help.

7. 4YxYx2=_32 8. 9x3x3=_H45 9 Yx2x3=_24
0. 8x6x2=_96 I 9x3x2=_23H 2. 2x6x6=_72
q
[
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enVision Math 3.7 - Math Practices and Problem Solving:
Repeated Reasoning

Mark wrote the equations at the right.

Which factors did Mark use 7x6=@3x6)+MHx6)=42
tedly to find +
repeatedly to find the 5x7=(5%3)+(5x4) =35

products? Make a generdlization.
7x8=(3x8)+(Hx8)=56

Complete this equation to test whether your generdlization is true for
other facts. Explain.

7x2=( X )+ (

What is another way you can use known facts to solve 7 X 2? What
generalization can you make from this way?




enVision Math 3.7 - Math Practices and Problem Solving:
Repeated Reasoning

Answer Key

Mark wrote the equations at the right.

|. Which factors did Mark use 7x6=(3%x6)+MHx6)=4H2
repeatedly to find the 5x7=(5%3)+(5x4) =35

products? Make a generdlization.
7x8=(@x8)+(MHx8)=56
He used 3 and H repeatedly; I

can break 7s facts into 3s and
Ys facts.

2. Complete this equation to test whether your generdlization is true for
other facts. Explain.

7x2=(_3 x_ 2 J)+( 4 x_2 )=_H

My generdlization is true. The 7 fact could be broken apart into a 3
fact and a Y fact. The product is correct.

. What is another way you can use known facts to solve 7 X 2? What
generdlization can you make from this way?

Sample answer: 7% 2=(2 % 2) + (5§ x2) =M; I can break up 7
dif ferent ways.
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